490

L &Y #F i o< T $h %

O L2V #Tim K TR
OLEVHTiR X AR AR L E

IXCO LA iR KT %

WEH SR

IKO LB HIAE MR EHTS
TEMEE 5EEZXAHOHEKEES—F
L BRI R T 30K

HTBEEE —EEK, % MNRAERT
Weke . BmEnFmFhEan, BRI,

tsh, MEMHE, BREKPRENS
E, BRArER, ZFsiR.

A, KEATRE. BV, LAV
B B AN S R BATALA o

St PR B A 7&K B BR /A 5] SHENYANG TOTAL BEARING CO.,LTD.
Tel: 024 22945833 22923833 24853899 Fax: 024 88729249

Mobile: 13940483518 15640413155 (#4{)

Web: https://www.rstbearing.com.cn

LBk A LHS AR 24
LHSA 4 E

PR [

HHE
(fRB%5)
LHSA 5.6 i

LHSA 8 it
A\ S
BieE #HE
(Bl FE ) (REE)

LEYHF i X 19 MR LHS B 4544
EL

-
R

BRLHH —

491

LHSA
LHS




LD LE#FikX T 4%
NE=

LBV K AR A B S AR 1 P o

1 HEMERS

= e LEFIE TS
AR EIS LAUFFIR K o iR RELE
RIS R LHSA \ LHS PRC
LEIFFIm K T A LHSA

IERHR R A FREH A S EHRERHLHEMNIR
map, HMRERLE, FHNMREERDBIENE
ERVER, Wi, SKEIAMETT, REHENEE
BRMPILHR

491 TN EMEMERTR, MR EHhR A EMARIER
NP H=Fo LHSA1OM THIERLEE I — M, B
AT ERE TALHSAT12 M Er9Bk LI r %18 4 1 5
EREETSRENKL, ¥—FRe 7B,

LEYAT 3K T Hl 7R LHS

LA BRI S SR WIK £, JFhrk
EHHEETAGRKENS. LEEESE, BNE
HEEL R EHEMIRT, B —EmERERETRE
B

IR E A LB TR A T HRAR L E, HAL
REEEEREMERKIETRAHEMSH, RERR
BB BRI LR

MRAFAEITHENERREDGLSME, SHAE
BEEBERRH,

LEYATim X TR B 2 ZEPRC

HERRRG  B AL B TR X T HRLHS A, BiAL 2R
SEHERmE, WREMARIREHRRHI, Bt
MHe, FERILBERTE.

WAHES

LB R AR ATRE S HEISIRE . R,
BT, HASIBIM T,

492

RIREYSRIHESI 51
B (EER PERL A B TERT)
LHSA 8
|
BHRT
(M8)
il2(E R PERLL A ZE HERT)
Beine|| RY | [#evsic

LHSA 8 L

ZIRIELX :

BI3(LHS %A Ry L BPRCHT)
[ms#ie]| RY |[memme
LHS 8 D

WEE

LA K TR R LR 2,

LHSA LHS

B mm
HARMES B Rtz Rtz
EMTHKE 21 +0.5
LHSA 0
S HTEMER 14
-0.2(1)
EFMTHRE 21 +0.4
LHS
HTERER 4 h9

E() BRI AZEAFLHSAS I L.

W3R FE

HTLEAM X P HANBSIHETERR AL
AR EERKLHEREARMBRENEN, BUENRTx
BTSN HRBCRRIMAMERA TIERE AE
SRR

BSOHAE

WMENFTTR, RYRPAROESARBEC X7
IKRLFAR A BT HIEN MR EF, FiBd#
ShBABEHH—SHEMNE, SMABMFRERY,
IAZIHTR,

1

1O LB iR Bk
| piihy

LHSAS N\ HYEIBBE A B SERR R 7hE () B Z 5 A
HEIES2. LHSRAHNIBBAE, BHTELAERE
B, MR, SEIBEHEMENER, R4
B4

NI R ERE

LA RN BB BV 080°C,

WEHETEEDR
QiIFNRE
FTFAZEARERTENIRLATRERMN2MEM L.

BFIFIRA
BYHAR B MRAFT o

®4 BFFERA

mATIEST
ERERET. MRFS TRE KPR E AHAR =
MR, PAERERERE. LERELTHK !
BBA TR WABIREM RN EN . WF H
HREERWE, BREREARERBROTHES. gl
B E
®3 BALMERE $ N AHREEY LHSA LHS
mm
NHBS | BAIMERE | ARLS | BATERE - - -
LHSA 4 840 LHS 5 880 5 17 15
LHSA 5 1180 LHS 6 1080 6 17 17
LHSA 6 1080 LHS 8 1630 8 18 18
LHSA 8 1900 LHS10 2100 10 19 19
LHSA10 2170 LHS12 2 620 12 19 19
LHSA10M 2170 LHS14 3190 14 20 20
LHSA12 2790 LHS16 3820 16 — 20
LHSA14 3 540 LHS18 4610 18 — 21
— — LHS20 5 340 20 — 20
— — LHS22 6 460 22 — 21
493




LICO LB iR K15 Hh % I1XCO LA iR KT %

D L
<9 <9
3 “ s \\ s
~ ( = v L.
By LHSA 4 LHSA 8
S = Z LHSA 5 LHSA 10
= LHSA 6 LHSA 10M
P s 2 LHSA 12
- LHSA 14
RE FERY mm i
(%) 5 B
AREE g sae | O
g S VD | L |L |L | L |Wi| W, | Dy | Dy| £ P 21 22| 23 N
LHSA 4 11 |M 4x0.7 *4 | 14 |25 18 8 | 4 8| — 8 10 |19.5/%5.5 7 7 5 8 880
LHSA 5 27 |[M 5x0.8 5 17 [385/ 30|16 | b 10 | — |10 12 |32.5 8 12 |13 |10 11.112| 1180
LHSA 6 27 |[M 6x1 6|19 395/ 30|16 |5 10 | — |10 12 |32.5 8 12 |13 |10 11.112| 1670
LHSA 8 64 [M 8x1.25 8 | 24 |48 36 |19 | b 14 | 14 |13 16 |41.510 14517 12,515 4 380
LHSA 10 106 |M10x1.25 | 10 | 28 |57 43 | 23 | 6.5 17 | 17 |15 19 149 |12 16 |21 17 19.05 7 400
LHSA 10M | 106 [M10x1.5 10 | 28 |57 43 | 23 | 6.5 17 | 17 |15 19 149 |12 16 |21 17 19.05 7 400
LHSA 12 180 (M12x1.75 | 12 | 34 |67 b0 | 27 | 6.5 19 | 19 |17.5 22 |64 |14 20 |30 |20 22.225| 9900
LHSA 14 260 |M14x2 14 | 38 |76 57 | 30 | 8 22 | 22 |20 25 |72 |17 22.5133.5|22 25.4 14 600
BT, SHTTARKSAHIE, JSRRMDRE, #5501, 1N=0.102kgf

2. HNBBEENS R,

494 495



LICO LB iR K15 Hh % I1XCO LA iR KT %

. D, S .
|
. : W/\% 7
oL ERe
P _L. i
LHS

BR& FER mm HSRH

(B%) 5 ®
N ) g gam | O

g S V | D B L |Li|Ly| L W | Dy | Dy| £ P 21 22| 23 N
LHS 5 22|M 5x0.8 | 5(17 |6 | 355/ 27|16 4 | 9| 9 | 11 |30.5 8 10 |15 | 11| 11.112| 2 080
LHS 6 32 [M 6x1 6 [19.5/ 6.75| 39.7/30|16| 5 | 11 |10 | 13 |36.5 10 115|185 14 | 12.7 | 3290
LHS 8 60 (M 8x1.25 | 8|24 | 9 | 48 |36|19| 5 | 14 [12.5 16 |44 | 11 14.5|21.5 15 | 15.875| 4 900
LHS 10 | 102 [M10x1.5 | 10 |28 [10.5 | 57 | 43|23 | 6.5 17 |15 | 19 |52.5 13 17 |26 | 18| 19.05 | 7 640
LHS 12 | 160 [M12x1.75 | 12 |32 |12 | 66 |50 27| 6.5 19 |17.5 22 |61 | 17 20 |30 | 20 | 22.225(12 400
LHS 14 | 227 [M14x2 14 |36 [135 | 75 |57[30| 8 | 22 |20 | 25 |69 | 17 22.533.5/ 22 | 25.4 |14 600
LHS 16 | 300 |M16x2 16 |40 |15 | 84 |64(36| 8 | 22 |22 | 27 |74 | 19 245 |35.5 23 | 28.575(19 500
LHS 18 | 445 [M18x1.5 | 18 |45 |16.5 | 93.5/71 |40 |10 | 27 |25 | 31 |84 | 22 27.540.5 25 | 31.75 |25 600
LHS 20 | 580 [M20x1.5 | 20 |49 |18 |101.5| 77|43 |10 | 30 |27.5 34 |90.5 24 30 |43 | 27 | 34.925|31 600
LHS 22 | 765 |[M22x1.56 | 22 |54 |20 |111 |84 47|12 |32 |30 |37 |99 | 27 32.547.5 30 | 38.1 |39 800

i RHADBE. HELDEEER, TN=0.102kgf

496 497



LICO LB iR K15 Hh %
L AR K A AR R R

PRC

FERT mm

NG
X|Y|E|F|Z|G|H

PRC 5 |20|29 |10 | 19|16 | 8 | 8
PRC 6 | 2231 [11 | 20|19 | 9.5 9.5
PRC 8 |27 |38.513.5 25 |24 |12 |12
PRC10 | 31 |45.5/15.5 30 |27 |14 |13
PRC12 |36 |53 |18 | 35 |32 |16.5/15.5
PRC14 |40 |60 |20 | 40 |36.519 |17.5
PRC16 | 44 |68 |22 | 46 |40 |20.5/19.5
PRC 18 49 |74.5/24.5| 50 |46 |23.5/22.5
PRC 20 54 |82 |27 65 |50 |25.5/24.5
PRC22 | 59 |89.5/29.5/ 60 |53.5 27.5/26

498

St PR B EEA Sl 7&K A BR /A 5] SHENYANG TOTAL BEARING CO.,LTD.

Tel: 024 22945833 22923833 24853899
Mobile: 13940483518 15640413155 (f{({5)

Web: https://www.rstbearing.com.cn

Fax: 024 88729249

499






